

NAME: Aisafe Bonwatife Ayomide  
 MATRIC NO: IF/ENG 03 6008  
 DEPARTMENT: CIVIL ENGINEERING

$$x(x-2)'' + (3x-1)Y' + Y = 0$$

Let

$$W_1 = x(x-2)''$$

$$W_2 = (3x-1)Y'$$

$$W_3 = Y$$

For  $W_1$

$$u = x^2 \quad v = x(x-2) = x^2 - 2x$$

$$u' = 2x \quad v' = 2x - 2$$

$$u'' = 2 \quad v'' = 2$$

$$u''' = 0 \quad v''' = 0$$

For  $W_2$

$$u = Y' \quad v = 3x - 1$$

$$u' = Y'' \quad v' = 3$$

$$u'' = Y''' \quad v'' = 0$$

For  $W_3$

$$u = Y \quad v = 1$$

$$u' = Y' \quad v' = 0$$

Recall

$$Y = u_1 v_1 + n \frac{u_1^{n+1}}{u_1} v_1' + \frac{n(n-1)}{2!} u_1^{n+2} v_1'' + \frac{n(n-1)(n-2)}{3!} u_1^{n+3} v_1''' + \dots$$

$$Y = Y^{n+2} \cdot (x^2 - 2x) + n \frac{Y^{n+1}}{Y} (2x - 2) + \frac{n(n-1)}{2!} Y^{n+2} \cdot 2 + \frac{n(n-1)(n-2)}{3!} (Y^{n+3}) \cdot 0 + \frac{Y^{n+2}}{Y} (3x - 1)$$

$$+ n Y^n \cdot 3 + \frac{n(n-1)}{2!} (Y^{n+1}) \cdot 0 + Y^{n+1} + n Y^{n+2} \cdot 0$$

$$= (x^2 - 2x) (Y^{n+2}) + n(2x - 1) (Y^{n+1}) + n(n-1) (Y^{n+2}) + (3x - 1) (Y^{n+2}) + n(3Y^n) (Y^n)$$

$$+ (x^2 - 2x) (Y^{n+2}) + (Y^{n+1}) \cdot (n(2x - 1) + (3x - 1)) + (Y^{n+2}) \cdot (n(n-1) + 3n + 1)$$

$$= (x^2 - 2x) \cdot (Y^{n+2}) + (Y^{n+1}) \cdot (2n(n-1) + 3x - 1) + (Y^{n+2}) \cdot (n^2 - n + 3n + 1)$$



assuming  $x=0$

$$(y^{(n+1)})_0 - (n+1)(y^{(n)})_0 + (y^{(n)})_0 (n^2 + 2n + 1) = 0$$

$$-(y^{(n+1)})_0 + (y^{(n)})_0 (n^2 + 2n + 1) = 0$$

$$(y^{(n+1)})_0 - (y^{(n)})_0 = (y^{(n)})_0 (n^2 + 2n + 1)$$

$$(y^{(n+1)})_0 = (y^{(n)})_0 \frac{(n+1)(n+1)}{n+1}$$

$$(y^{(n+1)})_0 = (y^{(n)})_0 (n+1)$$

Recall  $(y^0)_0 = 0.0005$

$$(y^{(1)})_0 = 0.0005$$

$n=0$

$$(y^{(2)})_0 = (y^{(1)})_0 (0+1)$$

$$(y^{(2)})_0 = 1(y^{(1)})_0$$

$n=1$

$$(y^{(3)})_0 = (y^{(2)})_0 (1+1)$$

$$(y^{(3)})_0 = 2(y^{(2)})_0$$

$n=2$

$$(y^{(4)})_0 = (y^{(3)})_0 (2+1)$$

$$(y^{(4)})_0 = 3y^3 = 3 \times 2(y^{(2)})_0 = 6y^2$$

$n=3$

$$(y^{(5)})_0 = (y^{(4)})_0 (3+1)$$

$$(y^{(5)})_0 = 4(y^{(4)})_0 = 4 \times 6(y^{(2)})_0 = 24(y^{(2)})_0$$

$n=4$

$$(y^{(6)})_0 = (y^{(5)})_0 (4+1)$$

$$(y^{(6)})_0 = 5(y^{(5)})_0 = 5 \times 24(y^{(2)})_0 = 120(y^{(2)})_0$$

$n=5$

$$(y^{(7)})_0 = (y^{(6)})_0 (5+1)$$

$$(y^{(7)})_0 = 6(y^{(6)})_0 = 6 \times 120(y^{(2)})_0 = 720(y^{(2)})_0$$

$n=6$

$$(y^{(8)})_0 = (y^{(7)})_0 (6+1)$$

$$(y^{(8)})_0 = 7(y^{(7)})_0 = 7 \times 720(y^{(2)})_0 = 5040(y^{(2)})_0$$

Using Leibniz Maclaurin theory

$$y = (y^{(0)})_0 + x(y^{(1)})_0 + \frac{x^2}{2!}(y^{(2)})_0 + \frac{x^3}{3!}(y^{(3)})_0 + \frac{x^4}{4!}(y^{(4)})_0 + \frac{x^5}{5!}(y^{(5)})_0 + \frac{x^6}{6!}(y^{(6)})_0 + \frac{x^7}{7!}(y^{(7)})_0$$



$$y = C(1^0) + x C(1^1) + \frac{x^2 C(2^1)}{2!} + \frac{x^3 C(3^1)}{3!} + \frac{x^4 C(4^1)}{4!} + \frac{x^5 C(5^1)}{5!} + \frac{x^6 C(6^1)}{6!} + \dots$$

$$+ \dots + \frac{x^n C(n^1)}{n!}$$

$$y = C(1^0) + (x^2 + x^3 + x^4 + x^5 + x^6 + x^7) C(1^1)$$

$$y = 0.0005 C(1^2) + 0.0005 (x^2 + x^3 + x^4 + x^5 + x^6 + x^7)$$

When  $x = 5$

$$y = 0.0005 C(1^2) + 0.0005 (5^2 + 5^3 + 5^4 + 5^5 + 5^6 + 5^7)$$

$$= 118.825 \text{ m}$$

$x = 8$

$$y = 0.0005 C(1^2) + 0.0005 (8^2 + 8^3 + 8^4 + 8^5 + 8^6 + 8^7)$$

$$= 1198.375 \text{ m}$$

$x = 10$

$$y = 0.0005 C(1^2) + 0.0005 (10^2 + 10^3 + 10^4 + 10^5 + 10^6 + 10^7)$$

$$= 5555.555 \text{ m}$$

Matlab file

Command window

clear

ac

close all

$x = 0:0.01:10$

$y = (0.0005 * C(1,x)) + (C(x,2) + x^3 + x^4 + x^5 + x^6 + x^7) * 0.0005$

$Y_n = \text{russY}$

Plot (x, Yn)

\* label ('m')

Y label ('Deposition')

axis on

grid on

grid minor

